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) The probability of drawing three kings in a row from a standard pack of cards is —55125 )

{a)  Whatis the complementary event of the above?( in words},

(b)  Whatis jts probability?

L ¢ 2) At the market t-shirt samples were on sale.They came in black, red, white and green and in

sizes 6, 8, 10, 12, 14 and 16. Only one of each colour and size was availabie. (e.g. one red size sixX

If a t-shirt is chosen at random, find the probability that it is: j

!
(@)  black and size 12.7 /
(b) greenorsize 8 ? /,~

(©) red and larger than size 107

— -

;. ¢3)The four Kings from a packA of cards are face down on a table. Two cards are picked at random without

replacement.

Draw a tree diagram to represent this information.

Use the tree to find the probability that:
(@)  the king of hearts is chosen.

(b) - the king of hearts is notchosen.



) Describe the likelihood of an event with a probabilify of:
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60 students helped out during the school concert Five acted, sang and danced. Ten acted and sang

but did not dance. Five danced and sang but did not act. Elght acted and danced. Twenty five sang.
Twenty acted and ten did not perform. ‘
(@)  Putthis information on the Venn diagram above.
What is the prqbabi!ity that a student:

_ (b) didntactor sing? |
(c)' acted aqd danced but didn’t sing?
(d) danced?
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¢ ) The probability of drawing three kings in a row from a standard pack of cards is me:
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(b) Whatisijts probability? 7~

mn VE the'market t-shirt samples were on sale.They came in black, red, white and green and in

sizes 6, 8, 10, 12, 14 and 16. Only one of each colour and size was available. {e.g. one red size six

If a t-shirt is chosen at random, find the probability that it is:
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(3) The four Kings from a umox.gn cards are face down on a table. Two cards are picked at random without |
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Draw a free diagram fo represert this information.

Use thé tree to find the probbilty that: e mvw
(). the king of hearts is chosen, ._.IM = g : ﬂm
~ (b) - the king of heartsis not chose c
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#4) Describe the llkelihood of an event with a probabifity of:
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60 students helped out during the school concert. Five acted, sang and danced. Ten acted and sang
but did not dange. Five danced and sang but did not act. Eight acted and danced. Twenty five sang.

' Twenty acted and ten did not perform. *

(b) didntactorsing? /1

(a)  Putthisinformation on the Venn diagram above.

o

. 3 o ~
(©  acted and danced but didn’t %m&% %0,

i
@ danced? ﬂm\ N

What is the propability ﬁmﬁ,m student:



